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RATIONALIST TALENT SEARCH EXAM 2017

STD : VI g6 ar
Roll No.

Date of Examination : 12 February 2017 Sunday
qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. X YRAYTARHET THUT 100 TR I Ycdeh FRATHIST 2 I[0T 37Te.
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% HISTAUI @IS Mg, AT SRideeel [ABleledn JOMd FHSATE! TPR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




Grelledehl TdHT HS U oAl HIOTAT?

INEICH B) hglale C) Sanrr D) Y=z
Which one of the following plants has fibrous root system?

A) Mango B) Neem C) Millet D) Peepal
gdrar el amem 3aEAd 3T,

A) I, B) & C) arg, D) adleldehIerd
Inner core of the earth is in state.

A) Solid B) Liquid C) Gaseous D) All of these

Greledehl HIOTAT AARIS TPl SUHANRN d& Id?

A) T B) GShIc C) 7T D) T Uhr @a
Which natural calamity leads to famine?
A) Flood B) Drought C) Earthquake D) all of these

FRT hegl STel 3 FFUTATI?

A) gl Sl ATdeT TETEIT JEJell AT el ST,
B) AT ¥l faRmm sgerdel S,

C) IAATT TEJAT PR SeAdell ST

D) A 9 B

When we say that work is done?

A) Force is applied to set on object in motion

B) To change the direction of an object in motion.
C) To change the shape of object in motion

D) Option A & B

MuTes FefoT gtﬁcm HAHS TSell?

A) R IRFEIANHD B) fasRT a1y Isciiees
C) ANhEEAT aTéIHD D) GATERUTET 3TEHIHD
By what the Bhopal tragedy has taken place?
A) Floods B) Leakage of Poisonous gas
C) Population Increase D) Imbalance of Environment
g1 TR urq 31e.
A) Tt B) o1Ig C) ot D) ITT ATEY
is an alloy.
A) Gold B) Iron C) Copper D) None of these

TATIAHET Fall 3T FIUTAT TITIT TSl AT ?
A) 3S0TAT B) TRl C) T i D) 34




10.

11.

12.

13.

14.

From Plants we get which type of energy?

A) Heat B) Light C) Chemical D) Fuel Qil
¢ faegdushrr 3eTeoT giy.
INGIETS B) IhTSC C) dis D) e
An example of insulator is
A) Wool B) Graphite C) Copper D) Steel
ECLon] Y 3.
A) 3 B) 4 C)2 D)6
The number of poles in a magnet is
A)3 B) 4 C)2 D)6
5 fheifaex (fohre)) = Ay ()
A) 500 B) 50000 C) 5000 D) 50
5 Kilometer (KM) = meters (m)
A) 500 B) 50000 C) 5000 D) 50
GTelTeldeh! ShIoTAT ITofT ITadics IS 3TedBdAl?
A) STATET B) &XI0T C) 3r&qel D) ITh
Which of the following animals is found in the grasslands?
A) Whale B) Deer C) Polar Bear D) Yak
‘qAH=ATT IMBUT AT HIOTAT AT 3TAYT gled?
A) 3rGifera ardr G GEIGEIIGI
C) TSR Tl D) e T arch
A Farmer’s sling are all instances of which motion?
A) Oscillatory Motion B) Periodic Motion
C) Circular Motion D) Random Motion
qaifte aafde 9erd Siorar?
A) T B) AT elTeT RIS D)
Choose the most elastic substance from the following?
A) Rubber B) Nylon C) Steel D) Iron
2 .
DTN 18 IHUIRT - T HHAH 3UITeh FHIOTAT?
2 18 12 18
A)— B) ) D) —
18 3 18 27
2
The equivalent fraction of 3 having the denominator 18 is
2 18 12 18
A)— B) C)— D)—
18 3 18 27




15.

16.

17.

18.

19.

20.

21.

3 .
FX+8=17 W x T FaAa fpdr?
A) -12 B) +36 C) +12 D) -36

3
In Zx+8=17 value of x is
A)-12 B) +36 C) +12 D) -36

Tehl AT aRTA faoqe &ell, av SiErar A & T%aId fahdl a6 gise.

A) 49T B)iq?f C) 99T D)étrcf
If perimeter of square is tripled, then area will be of original area.
A) 4 times B)i times C) 9 times D)% times
3 . . .
55 o @RI UITeHTeT TR .
A) 5.000 B)5.375 C)5.255 D)2.325

3
The decimal form of 5 3 is
A) 5.000 B) 5.375 C) 5.255 D) 2.325

1 50 T THUT Tohell Hos T&AT 3MRcA?

A) 18 B)12 C)15 D)20
Number of the prime numbers from 1 to 50 are
A) 18 B) 12 C) 15 D) 20

A) 169 B) 1690 C) 97 D) 6
J81 + 16 =a, then a’=?

A) 169 B) 1690 C) 97 D)6

GHTIET el foheAd €. 350 ST 318, SN 3 Gedl 94 ¢qol o fhAd %. 2450 3@

I T o fhaa fprd?
A) 500 F. B) 150 &. C)300%. D) 450 3.

Cost of table is more than chair by Rs. 350. If the cost of 3 chairs and 4 tables is Rs. 2450. What is

the cost of the one table?
A) Rs. 500 B) Rs. 150 C) Rs. 300 D) Rs.450

8 &AL ST AT TATT EFeTthas fehell?
A) 64 Tt .50, B) 512 . 4. #Y. C) 512t 4.4, D) 24 9.9.5.

What is the volume of the cube whose side is 8 cm.
A) 64 sq.cm B) 512 cu.cm C) 5125g.Cm D) 24 cu.cm




22.

23.

24,

25.

26.

27.

28.

WWWLA=SOO wx L.D=7

LA=5OOthenLD=?

In the figure given besides

A 50

o
7

A) 120° B) 130° C) 180° D) 60°

1.2 Tl & 240 #1 TN fehcir?

A)1:2 B)5:1 C)2:1 D)1:5
What is the ratio of 1.2 km to 240 m?
A)1:2 B)5:1 C)2:1 D)1:5

2l gEITET AGIT 28 30T JdTd 336 3. ATdlel Ueh T&T 1123Tr€€<‘-IT§'\F|frH'EHT
FIOTAT?

A) 78 B) 68 C) 84 NERGEETIRE]

The HCF of two numbers is 28 and their LCM is 336. If one of them is 112. Find the other number?
A) 78 B) 68 C)84 D) all of these

qrsar Simplify

345X0.12+45-24+1

A) 56.6 B) 60.50 C)62.4 D) 52.6

Tehl HigearedT 29 A1 feasll FaR 3@e TR I Afgaredr ga=ar AfAaRY fhdl arira
374

A)9 B) 19 C) 12 D) 10

If the 29" day of a month is Thursday, what is the date of the second Saturday in that month?
A)9 B) 19 C) 12 D) 10

STo[18 G, 24 FAT F30 HAY IrFOTAT PRIV &1 Thes fehell?

A) 216 G B) 210 HHI? C) 21 HHT D) ITdhr ATET

If the sides of a triangle are 18 cm, 24 cm and 30 cm then find the area of the triangle?

A) 216 cm® B) 210 cm” C) 21 cm? D) none of these

Choose the correct option for the given words:
The place for luggage at railway station
A) Compartment B) Cloak room C) Waiting room D) Platform




29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

Change the active voice into passive voice:
Please read this letter.

A) You are requested to read this letter

B) You are requested to reads this letter
C) You are requesting to read this letter

D) You is requested to read this letter

Find the antonyms of the word written in capital letters below.
POVERTY
A) Dearth B) Poor C) Wealth D) Starvation

Fill in the blanks with suitable articles:
There was a girl. girl was very beautiful.
A)A B) An C) The D) Both A and B

Fill in the blank with the suitable conjunctions from the options given below.
Run fast the gate will be closed
A) after B) or C) before D) still

Find the proper masculine noun for given feminine noun?
Queen
A) prince B) king C) Landlord D) father

Guess the meaning of the following idioms from the given options:

A stormin atea cup -

A) a cause for a storm B) a storm that occurs in tea states
C) very hot tea D) fuss over an unimportant problem

Arrange the jumbled letters to make meaningful word.
EUSREC
A) Scuree B) Secure C) Resucre D) Rsecuer

Grell feeledT QrecaAgr Sl fEoiedr gaTl ereaiish Teg 3oarar 9dy foasr.
FIAA el farary

A) 3 faeard B) SIGEIT

C) faeary D) 3TTcAfaRaTd

@roitel Qregren faveurdt gafr e
el
A) TS SRIGGIH C) HR D) FMaTTe

GTellel 2rsaTell FATATAT 9T fAgar.
STeTedT
A) Ter B) TcaTTaY C) deltd D) 9o




39.

40.

41.

42.

43.

44,

45.

46.

Grelleldehr eer euse; fasr.
A) gl B) Ty C) gHoT D) gehuaT

Qrellel AERYAIRET A 31 G ATe.

Ateprell AT Siieol-
A) fSiegRY @meror B) &IdT &Il
C) WOT SATOT D) Tu @7 IO

GTolloldeh! 3Tiehddall ecrar JATT 3caT.
A) T B) g C) 31 D) UTE®

Grellerteh! qicesl e 3itear.

A) T B) Uiy C) sl D) HcY
EIEEIG I gld.

A) 318 B) 3°UT C) [at® D) 31T
Air becomes depending on the height

A) dense B) hot C) thin D) thick

Qrollel HEATATST YT FUITHIST FeATdegedl SRl HIoTc H#&AT Ao,

In the following question choose the missing number to complete the series.
10, 18, 28, 40, 54, 70, ?
A) 85 B) 86 C) 87 D) 88

GrelleT 3fepeicllel ThoT RO Feedr fohci?

Count the number of triangles in the following figure.

W

A) 14 B) 15 C) 16 D) 17

Qrellel TRa 3Tehciiel RS GidaAT el Qe O 36X 3MepcdiaALs e

Find the mirror image of the question image from the options:
9T 3-1'I7=<|3_<-ﬁ / Question Figure




47.

48.

49.

50.

—

B

3aX 3ThcAT / Answer Figures

2 3 4 s

A) B) C) D)

gl @ -

o

QI 9T ShAleh 47 o 49 HEY UigedT Uarar qa-ar yarRl ST §aer 31g, oard Jee
TaE=ar verar dtear yerelt e Jrawsd g Regear SRl JuR ue AdsT.

Instruction —

In the question below 47 to 49 the relationship between the first term and the second is same as it
is between the third and the fourth term. Taking this into consideration which alternative will come
in place the question mark?

oo
Al _I =

A) B) C) D)

~J

AT fRreTeR:: 3itwer 2

A) GeRIe B) STcall C) 30T D) Sl&FeX
Knowledge : Teacher :: Medicine : ?

A) Shop B) Bottle C) Patient D) Doctor
14:9::26:7?

A) 52 B) 15 C) 34 D) 12

gedl, ¥ 9 G Iredmdidl RER HGE GATAURT gt 3Mepeirar 94T fogsr.

Select the prefect Venn diagram option which indicates the best relation amongst earth, sea, and
sun?

O.F ap 09




51.  TTollel JTehcirar Hrem quT OIS AT g3y fasT :

In the following question, find out which of the option completes the figure matrix.
9%T 3-1TE<|3_(-TT / Question Figure

3aX 3ThcAT / Answer Figures

A)

B) C) D)

52. deTd o SHUIRT 9A fagsr.

Find the odd man out
A) DVFT B) EUGS C) GSHR D) FTHR

53.  W@rellel WRa JThclrdl oIl YTAHAT 3R IThcaTHEA e,

In the following question choose the correct water image of the question figure from the answer
figures.

W 3MTeheil / Question figure

3T 3Rl / Answer Figure

A) B) Q) D)

54.  MEId o SHOMAT ehcira oI fAger.

Find the odd man out

A ][R

A) B) ) D)




55.

56.

57.

58.

59.

YRATI-gIeAT SR HIVAT 3 AScl?

Which number will replace the question mark?

AT Ty T

A) 41 B) 8 C) 180 D) 80

Grellel 9R&T 3MTehcllcl ddlcic SHOTRT $1T qATce foiasr.

In the following question select a figure from the option which fits exactly into question figure.
RG] 3-1TE!3_<-ﬁ / Question figure

il

3 3-113:7—?[ / Answer Figure

L L S I L

A) B) C) D)

Grellel TR&ATd Yehrdl HE&aT Sisr f¥ast

Choose the odd numeral pair in the following question
A)2-8 B) 3-27 C)4-32 D) 5-125

TRATITGTTAT SR YUTAT &R AT QMe.

Complete the alphabet series by using correct option:
AY,CW,EU,GS,?
A) 1Q B) HR C)Jp D)l

T o SHOUIRY 3Tehell foas.

Find the figure which is different from the others?

O O
O
® O OIC ®

A) B) C) D)




60.

61.

62.

63.

64.

65.

66.

HAfgcdrar 3feR AgRISEIAS AR - il ForedT

3MeTerTHes [Hare.
A) 3{8. 19T 3Ted B) 3TUUTT EoIX
¢) faafsR geik @raa D) sig ASY

The citiznes of maharashta got the right to Information due to the agitation of
Shri

A) Adv. Baba Adhav B) Anna Hazare

C) Brig.Sudhir Sawant D) Narendra Modi

IcoAdell’ g dAlesh ol fafge ?

A e B) <t

C) @HTe gY¥adeT D) Q&I Tgare
Who wrote the play Ratnavali?

A) Milinda B) Samudragupta
C) Emperor Harshavardhan D) Chadragupta Il

HRATT AUl 31 HIOMAT Fgeol ATd?

A) TgIed B) e

C) 372Nk D) I TR

Who is known as the Indian Napoleon?

A) Chandragupta B) Samudragupta

C) Ashoka D) none of these

IMMAITISIG FATHATT A 0T SFcr?

A) TS B) fSregTfasrY C) dgfaderR D) 3ufaereiT 31f8sRY
Who maintains land records at village level?

A) Patwari B) District Collector C) Tehsildar D) Sub divisional officer
HRATT FAJGT HOITST fhaATeT a¥ gg 37 AT,

In india, the minimum age for voting is years.

A) 18 B) 21 C) 25 D) 16

9Rara fafatrar 3mg +r?

A BT B) &Tgr C) AETAT A =ATeT D) WA =ATgr
Does diversity exist in India?

A) yes B) No C) Connot say D) Not sure
T forg auta feaw 3raara.

A leap year has days.

A) 365 B) 368 C) 355 D) 366

10
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67.

68.

69.

70.

71.

72.

73.

74.

g Fa:TAT 378TTaR fuarear e FgUTdId.

A) HTT B) URdelel C) aR&HTT D) garguT
The movement of earth on its own axis is called
A) Equinox B) rotation C) Revolution D) Solstice

TTCTeldehT HIOTCAT T SEEeA 3TCRN dhell?

A) TEH B) dfA® C) 9TeiY D) defd],

In which of the following languages did Buddha Preach?

A) Sanskrit B) Tamil C) Pali D) Telugu
AR g1 STTdrel HIST 2T A1e?

A) Ggrar B) Tt c) faaxr D) |Tcar
India is the largest country in the world.

A) Tenth B) Fourth C) third D) seventh
gedaR FFeAHS fSaravor nead.

A) gaT B) 9TufY C) SIfAeT D) adrerdhr Ia
Life is possible on earth due to the presence of

A) Air B) Water C) Land D) All of these

TNt FIvTer Aead Sf2ar AT 3me?

A) HeS B) sTdT feoall C) Sholehdl D) ot
In which of the following city ‘India gate’ is located?

A) Mumbai B) New Delhi C) Calcutta D) Pune
HERTSe gt AfAAY ST ST,

A) 26 STTIATRT 1960 B) 15 3{TIEE 1947

C) 1 #1950 D) ITdhT ATET

The state of Maharashtra was formed on

A) 26 January 1960 B) 15 August 1947

C) 1 May 1950 D) none of these

deFcfed FIHA T Yo HIUTT Hired FRAT ga?
A) T B) HHTYUT C) SreroaT D) gTaHTary

Elocution competitions and debates help to develop which skills of students?

A) Reading B) Communication  C) Speaking D) Stimulus variation

3TEY AT hdled HIUTd Hreg fafger?

A) eI B) At C) HETHTST D) AfOTAEaS
Who wrote the famous poetic Ashvaghosha?
A) Buddha - Charitra B) Medhdoot C) Mahabhashya D) Manimekhalie

11
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75.

76.

77.

78.

79.

80.

81.

82.

HETT TS TAT APl Tlelloldehl IS SIUTAT?

A) figarR B)Uedled I C)HAE HAEH D) TSATAT AT
Who of the following was a contermporary of Alexander, the great?

A) Bimbisara B) Chandragupta Mourya

C) Samrat Ashoka D) Pushyamitra Sunga

A) FrAT - TASIOTT hg B) S - 3dH RFeR

C) g - YeIfAAIRE D) @rFdTe - VI of&Tor g 39IR IraY I
Find the wrong match of the following ?

A) Kanchi — Center of Education B) Brahama Gupta — Good painter

C) sushruta — Surgery in his tratise
D) Vaghbhatta — Symptoms and treatment of various diseases

s THUT fohel YR 3MTEcT?

A)3 B) 5 C) 10 D)8

How many kinds of rocks are there?

A)3 B) 5 C) 10 D)8
GrelTeTdehT HIoTT 3ofd AT ATEr?

A) ShlzdT B) Udel C) STet D)3H

Which of the following is NOT a energy resources?

A) Coal B) Wind C) Water D)Sugarcane
MeTay 1ET AGRISSIA UYT 39TH IaA?

A) TR B) IS GRECEIER D) HETE3aT
The river Godavari Originates at in Maharashtra.
A) Bhimashankar B) Multai C) Trimbakeshwar D) Mahabaleshwar

HRATS 3T 0T 3MR?
A) g HISY B)TUSTary fHar ) gRer wgg D) 31%UT Sicell

Who is the union finance minister of India?
A) Narendra Modi B) Rajnath Singh C) Suresh Prabhu D) Arun Jaitley

‘PIIS’ g T HIUCAT Toleedrd 3g?

A) 3RETETG B) 3§HETIR C) qor D) ATITYX
The village ‘Kopardi’ is in district.

A) Aurangabad B) Ahemadnagar C) Pune D) Nagpur
oTd A § HRATS TSCUAT 3R,

A) SR B) digra C) R D) 37T

12
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83.

84.

85.

86.

87.

88.

89.

Pranav Mukherjee is the

and current president of India.

A) 12t B) 14"

8 A & feaw

A) ITARTSERT Afgerr feaT
C) ST 9ATaRoT et

8" march is celebrated as

C) 13" D) 11*

FEU HISRT shell STdl.
B) freTeh feot
D) Srfelenr fest

A) International women’s day
C) World Environment day

SFg de i HIUTAT AT ATTelr?
A) fas=r B) AT IMEram

What did james watt discovered?
A) Electricity B) Motor car

Greitel 41 o ”ieg 3itadr.

Select the Symbol of Twitter.

M

ThT STSTAT IR Teh 1S IET Slogl dlololl FGIedT haAmhay 3¢, o} T &

In a row of plants, one plant is sixth from either end of the row. How many plants are there in the

THUT fohell 1S 3r&ciler.

A) 11 B) 10

row?

A) 11 B) 10
FGrellerdehl HI0TAT Jarigelr ATer?
A) 3TST deh B) o o &Y

B) Teachers Day
D) Balika din

C) arh<T AFA™T D) WiaAer derar

C) Steam Engine

c)n

D) Mineral Oil

N

C)9 D)8

Which one of the following is not a news channel?

A) Aaj tak B) BBC

ST&TIATST 10T AT IfASY 31e?
A) ARTR B) ATfRIh

Which city is famous for Grapes?
A) Nagpur B) Nashik

TTEATATT AT PIOTAT 371872
A) [T B) SiTErqY

Which is the capital of Rajastan State?
A) Bikaner B) Jodhpur

——

C)9 D)8
C) 3l =gt D) Sheld
C) Z News D) Colours
C) STeseTTa D) TceATIIRT
C) Jalgoan D) Ratnagiri
C) 3T D) SR
C) Ajmer D) Jaypur

]



90.

91.

92.

93.

94.

95.

96.

g JSSHTI HGMAERIG ATl 38 ?

A) 71% B) 60% C) 81% D) 90%
The oceans cover of the surface of the earth.
A) 71% B) 60% C) 81% D) 90%

2016 TIAT 3TATEYsh FTIYT HIUTAT AT SHATeAT?

A) cifrar B) Rrepramr C) RAT § SAR3T D) s
The Olympic Games 2016 were held in

A) Tokyo B) Chicago C) Rio De Janeiro D) Brazil
el e ShEr fAqsr,

A) 3299 - fashATieT B) STA#Ce- gVt

C) AT - Hidsah D) FifeleTd - FHGITd

Which of the following pairs is correct?

A) Ashvaghosa - Vikramaditya B) Banabhatta — Harshvardhana
C) Harisena — Kanishka D) kalidasa - Samudragupta

AT FHEIAR T YN INAH T Fioll Wieordehl HIUTEAT ISTAeld ST hell?

A) TSI B) 3¢ C) AGradeT D) figar
Both Mahavira and Buddha preached during the reign of -
A) Ajatashatru B) Uday C) Nandivardhan D) Bimbisara

o O hd

g gl &

ESTUT HERcllclel aEda®al ddel Sehial HE&I Iadr

TIST Bld.

A) AT B) IR[aTeT C) MR D) RIsR

The relics of Indus Valley civilization indicates that the main occupation of the people was.
A) Agriculture B) Cattle Rearing C) commerce D) Hunting

Aol heltd 8T Teh Jilcy 3.

A) STIRUTE&g  B) fhahe WadTg C) fo=iees Warg D) HITaae

Michael Phelps is a famous

A) Swimmer B) Cricketer C) Gymnastics D) Runner

T o SHUIRT &AT 3ebdT.
Choose the odd one out.
A) 324 B) 243 C) 432 D) 234

14
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97.

98.

99.

100.

T : -

N

@rellel deFcdral 3ATH T d YA 97,98 99 °1 3aX &3l

dAFaEar
wa | AlgeT | wRoT
e | 960 860 1820
HgRISE | 1000 873 1873
e 902 1073 | 1975

Instruction —
Study the following table and answer que. No 97 98 and 99

Population

State Male Female Total

Gujrat 960 860 1820

WalRrEsnt| so0p0 | 878 1873

Kerala

902 1073 1975

FIUTT AT AT ANRIATAT STET TR,
A) RS B) FERTSE C) I[ERT D) AT AT
Which state has the highest population of female?
A) Kerala B) Maharashtra C) Gujrat D) None of these

FIUTT TSI ARTEAT Jald AT TR,

A) FERTSE B) 3T aer C) ISR D) B
Which state has the minimum population?
A) Maharashtra B) Uttar Pradesh C) Gujrat D) Kerala

AT U diehaEar fohdl 3me?

What is the total number of female population?

A) 860 B) 1073 C) 873 D) 2806
¢ HERTSCIciel 3TSureh faege e 31g.
A) SRTET B) dRTX C) =TT D) StaTqX
is a thermal power station in Maharashtra?
A) Koradi B) Tarapur C) Koyna D) Jaitapur
( ]
L = )



